ASSEMBLY INSTRUCTIONS Sden.
Enduring Garden Architecture
The ROSCWOOd Arbor wwvgv.edenarbors.com

[—26.510n

L

[TITITT
_ IHININI
88.71in 84.5in
INIRINI
IHININI
2in IHININI
| | —20in—|]
‘ 47 in | ———24in

Please read through before starting assembly.

I Check Box for These Contents
In the event of missing or defective parts please call our customer service dept.at 1 800 282 9346, ext #20 (Mon. to Fri.8:00 AM to 4:00 PM EST),

1. Arch Keystone (2)
2. Arches(4)
3. Arch Rafters (6) 0
4, Post Trim Caps (4)
5. Preassembled Side Panels (2) 9
6. Hardware
a) 13/4" Wood Screws (14) To attach rafters and keystones to arch 9
b) 11/4"Wood Screws (8) To attach ground stakes to arbor posts
c) 11/4"Wood Screws (4) To secure post trim caps to arbor posts o
d) 13/4" Bolts and T-Nuts* (8) To fasten side panels to arch assembly N T
e) 11/4” Bolts and T-Nuts* (4) To fasten arch sections together e ; N SR
7. Ground Stakes (4) RN
(*) T-Nuts are already installed inside the posts. N L
0 SNk
| Tools You Will Need | EE SIURE
+ Cordless Dirill g g Cg i N ~=.§.; v
* Tape Measure S
- Level FEigyn Jﬂ\ -
+ Short Ladder
- gnort 000060006 U
Not to Scale
I General Information \/

Read Instructions through carefully before beginning assembly. e
« When assembling components, place on a non-abrasive surface

(i.e. shipping box) to avoid scratching.
« We recommend an area approx 10x 8’ for unobstructed assembling. ~
+ You should not need to use excessive force when assembling components.

Ver 1.2/DEC 2010



STEP ONE

Assemble the Arch System

Slide the Keystone onto one of the arch section as illustrated.

Mate a second arch section and fasten with the provided shorter
(1 1/4") bolts as illustrated.

Slide the Keystone back and center it at the top of the arch.
Fasten with 1 3/4” screw. Repeat for other arch.

Align the six arch rafters to the pre-drilled holes and fasten
each rafter with two 1 3/4" screws as illustrated.

Enduring Garden Architecture
www.edenarbors.com




STEP TWO

Connect Arch System to Side Panels

Position the side panels and adjust the opening width to 42 in.
Slide the post trim caps on each of the posts.

Place the pre-assembled arbor top onto the post as illustrated.

Fasten the arch system to the posts using 8 of the longer (1 3/4")
bolts as illustrated.

Slide the post trim caps back up the post to cover the mating parts.
Secure the post trim caps into place using one 1 1/4” screw each.

/

1
S\

I 777
v/

[l /7

I 77
[l 77

[T

g I 77

Y s
)/
y /-

ViEE

L
\
L
\

/
I/
/

7T 7
7

/7

7

7

/7

7

y /.

/I 77
[l /7

[T

g rr 77

s
yir
Ay

)/
/

Enduring Garden Architecture
www.edenarbors.com

I 777
yaya,
[ [T ]

[l /7

I 17
[l 77

[T

g I 77

Y s
)/
y /i

N e

The Rosewood Arbor



STEP THREE

Attach Ground Stakes
Arbors must be well secured to prevent tipping over from wind load etc.
We have provided four ground stakes for securing the arbor.

Ifyou are installing your arbor on concrete or a wood deck, visit your
hardware store to purchase the appropriate galvanized bracketing
hardware.

Fasten all four ground stakes to the base of the posts using
the provided 1 1/4” screws (2 screws per anchor) as shown aside.

Q Temporary Arbor Installation

For a temporary arbor installation, carefully lift the arbor and
place into final location. Ensure the arbor opening is set
at 42" and that the arbor is plumb and level.

G Permanent Arbor Installation

Into Earth For Permanent Installation
STRONGLY RECOMMENDED

For a permanent installation, measure and dig four-8" holes, 14"
deep where the ground stakes will be located. The centers of the
holes should be a rectangular pattern with dimensions of
441/2"x 22"

Fill excavated holes with mixed concrete and carefully lift arbor
into place. Plumb and level the arbor.
Note: The posts should not be set in the concrete.

E L - - —— T T
R I P . P P | S
Groundstake : R PO | S I R AP | PR
N + 4+ LR . . . R Y B
. PR | 35 L L N I 1
BN OO0 I (o OO 1000
B LR SR R | SRR PR - e c + + o+ + + 4
Concrete : e+ + [+ + 44 TR . BRI 1 35388
R st | S PR B SOOI 1 000!
B 00 R X R P 1 350
8 ol 000 .. T N N 1 0D
Ground B OO0 R P 1 3000
PR | 35 R AR B | PR
o+ o+ + o+ + A et L B L
1R 1 36 S B MR AEN | R
BOOH OO0 . . S PSR 155500
AR I + | A N e L. + + o+ + + + 4
N I B R e B 1
B 1 30 T AT
+ e BT . P PSS 1 3D
+ + o+ o+ + | et B P E N + + + A
+ + o+ + + + 4 . . A LR T R A S I
BOOOODOO L e BOOOOOOE
B .. N
P A P . TR T T T T T
O L L A, dee e T T T T T
+ + o+ o+ o+ + PR B R R N |
P A AP PR AT A A
1 355cm. < lmhﬂ

Enduring Garden Architecture

1915 Dove St., Port Huron Ml USA 48060
Toll Free Phone: 1 800 282 9346 Toll Free Fax: 1 877 464 9286

www.edenarbors.com




